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405 Xt &tH Sl 500,000 500,000 0
250,000

75,000
175,000

Mo

2E3 S| 500,000 500,000 0
ORHIEEAY 500,000
HsJI 2 (2401 2 255 360H) 400,000, 000! * 14! 400,000
200,000
60,000
140,000
— ALY 22/ &H 2 100,000
- X &t 35,000, 000! *1CH 35,000
17,500

HH

W
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SN SRR D

HE: 52 HSGSR(SYHS LM /5 - 5&)

’i*-?—ligjlﬁlxl%_‘; i N T (&)
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
= 5,250
2 12,250
- AGHE 2IEE 65,000, 000& = 1CH 65,000
= 32,500
= 9,750
= 22,750
SIHAHALUHAIE A2 Y 167,028 133,078 33,950
101 @1 24d| 54,458 31,874 22,584
04 JI12ZtH 22 HsEs 54,458 31,874 22,584
OsJIAHS UM 24 54,458
—JI2= 49,4503 x3H 200! 29,670
— =54 49,4503 x3H 502! 7,418
— X 49,4503 x3H 12 1,781
-5 74,1753 x3H x40 8,901
—AEE = 47,768,700 x14% 6,688
201 L Er2 I 112,570 66,204 46,366
01 At 22l 35,420 14,604 20,816
OUHAIE X AIE2Z 400,000 *2JH 2 #1200 & 9,600
OSHAISE A RAHHAIAE 500,000& 2K 2= * 1200 3 12,000
OZUAY 233 =¥ 70,0002 13 %23 1,820
Odamz gy 22/l 12,000,000 14 12,000
02 3523l 77,150 51,600 25,550
OCYgti=sJIH B8z 70,0003 145CH 10, 150
OLUAIE A SHTHEE = 3,000,000& *12] 3,000
OYU=sIIAH A=Hl 2,000& *3,000¢ 6,000
OSU=sIIAH =eldl, A2FH] 400,000& *145CH 58,000

_49_




FA SN
i sIASEA (s /s - &)
o2 sI|AH X (St m )
% = & E
SN -HM . (3H) - HEALY - HES Off &F 4 'Oﬂ'&ﬁ Hwsz2
SIAHSHALE 200,000 0 200,000
401 AIEBIZL 208l 200,000 0 200,000
01 Al &l 200,000 0 200,000
OsIIAHLUHAIE A A X o 200,000,000& 200,000
sHAHuUs=# 84,271 48,872 35,399
= 19,500
= 64,771
SIH =32l 249 42,571 41,472 1,099
101 el dl 14,771 13,272 1,499
04 JI2HHZ2Z2 RS ES 14,771 13,272 1,499
OsJlH&slwe 2EEX 14,771
A== 49,4503 x1E 200 9,890
—FF2Y 49,4503 x1H 50 2,473
— XY 49,450 x1H » 12 594
—AUHEE = 12,957,000 *14% 1,814
201 L Er2 | 500 900 A 400
02 22224l 500 900 A 400
O=JIH &3l &4 H24l 2,000& %2504 500
202 04 | 4,800 4,800 0
01 2 WA YI 4,800 4,800 0
OsJIAH &3 =el 20,000 x2ZF 120 4,800
206 M = bl 22,500 22,500 0
01 M =4l 22,500 22,500 0
O=JIH &al=cl8 285,237,428 7¢ 50,0002 #4503 22,500
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SN ST
Ha: 5907

i

!

chel: =l N DS EY EEE-T)
= - N L=
S EB O (3H) - NEAY - BAS ofl &F 04 Oﬁjﬁ HDE2

SIH s XE 2,700 4,700 A 2,000

201 Bt dH| 1,000 4000 A 3,000

01 AFS 2t 2| bl 1,000 1,500 A500
OE=2E, UM, 82 & 5,000 x2008 1,000

206 M =4l 1,000 0 1,000

01 M & H]| 1,000 0 1,000
Oussddd 88 ¢ 232 2¢ 10,000& = 1004 1,000

301 et A E 700 700 0

10 HAIA B 2 A= 700 700 0
Osgel =JAH U= 7,000& 100 700

SIH =2SAIS 39,000 2,700 36,300
= 19,500
= 19,500

201 Bt dy| 1,000 1,000 0
= 500
= 500

01 AFS 2t 2| bl 1,000 1,000 0
O=ZHIBEZ ALY 1,000
—sJH nEeEsd UM JE 5,000& x2008 x 13| 1,000
= 500
= 500

206 M = 4| 1,000 1,000 0
= 500
= 500

01 M &t 1,000 1,000 0
O=ZHIBEZ ALY 1,000
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SN SRR D
M HAH2AZH (s S XS D) (IIEHIIE)
Ehelr D122l (2 &@
SH BB SAEA) - HBAY - BAS Ol &4 o8 e HlmE2
ORNEN 1,831,000& »20H 36,620
O HI(S20HAlHl) 7,000 x20F 25 3,500
OHEXt= ALD| 150,000& = 1CH+x12& 1,800
02 2324l 20,063 21,423 A 1,360
OZNERL S (X E) 30,0003 *4CH »23| 240
OxeBE= 600, 0003 *4CH 2,400
OXtsS XAl 423
- 58 300,000 *1CH 300
—3st2 41,0002 *3CH 123
Ox&: Xl 2eltl 17,000
— 58 (8%, 25,000km Of &) 5,000,000 = 1CH 5,000
—32(d%, 1E0l5t, 25,000km 0l 4t) 4,000,000 »3CH 12,000
202 O Bl 43,800 39,420 4,380
01 2 LA YI 43,800 39,420 4,380
O& LAYl 120,000& x20H x12& 28,800
O&2 0yl 75,0002 x20E 10 15,000
203 & 2=l 5,000 4,920 80
02 H3JtatH 2 =&l 800 720 80
OF A E =& 40,000& 20 800
04 RFMA2EHRZ=TH 4,200 4,200 0
ORN2EIERF=LHI 350,000& 128 4,200
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